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SOCIOLOGY

Consider the following statements aboul

social stratification in industrial society:

I Industrial society is unstratified,

2. Industrial society is stratified on caste
basis

3 Industrial society iz stratified on the
hasis of ¢lass and status.

4. Industrial  sociely inders  social
mobility for the individual

Which of the statements given above is/are

correct

g | and 4 only

b 3 only

¢ 3 and 4 only
d 2. 3and4
e. b

According 1o Talcott Parsons. which ol the
followmng  would apply 1o mdusinal
spciety?

1. Neutrality

2. Particulansm

3. Universalistic achieyement

4 Collectivity

Select the correct answer using th ¢
given below

a | ands 3 only

b. 2and 3 only

¢ | and4 only

d 1.3and4

e d

Technologica, “ou em..ation leads 1o

4 Increpse i num.er of workers

b, disolas 2.~ { of workers

¢ 1 res  achild workers

d e 2ase in contract workers

3

-

Consider the following statements:
Fordism as a system of production

1, 15 alow trust syslem

2 maximizes worker alienation

3 reduces routine work done by humans.
4. requires close supervision ol tasks.
Which of the statements given above 1s/are
the limutation(s) of Fordism”

a 1.2, 3and4

LN

0,

b. 1.2 and 4 only
¢. 1and 4 only
d 3only

B, B

Which one of the following statements is

correct aboul social forestry?

a It i1s the form of fores' aana, @ment
prevalent in socialist ¢ min. -

b. 1 15 one of the co~ =nu mal methods
of forest manager ent.

¢ Wos a for oI Tore ¢ managemenl
imposed by e St e

d N helps in rev. 'ang of lorest wealth

bv -~ w.  poticipation  of  local
con v.ail |
el 'I-

Ac ardir 2 to the Census 2001, which one

) tng  lollowing sets of states s

ch ractenzed by high female Interacy”

« Kerala, Mizoram, Lakshadweep

b Gujarat. Harvana and Kamataka

¢. Jammu & Kashmir. Arunachal Pradesh
and Lakshadweep

d. Delhi, Uttar Pradesh and Jharkhand

€. A

Which one of the following 15 the

significant  factor of population that

determines the level of births and deaths?

a  Sex composition

b Rate of ferility

¢ Agecomposilion

d Rate ol mortality

e. c®

According to the demographic transition

theorv, the first phase ol demographic

change in the pre-mdustrial svstem:

. leads to the population growih

2 relates (o a fall in death raies,

3 15 based on advances in lechnology

4 leads to migration

Select the correct answer using the code

given below

a 2,.3and4d

b. 1and3 only
¢ 1.2and3

d land4onlv
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11,

12,

e d

Which one of the following is known as

the process by which cultural traits spread

from one culturally distinet. group to

another?

a. Evolulion

b, Assimilation

¢.  Accommodation

d. Diffusion

e. d

Which one of the following statements

regarding the difference between power

and authority 18 correct?

a. Power is based on physical coercion.
authority is not.

b. Power hes within sociely. authorily
lics with the state.

¢, Authority is legitimate power:

d. Only the state has power. non-political
institutions exercise authority,

e €

What, according to Max Weber, s the

characteristic feature of bureaucracy?

a, i represents the will of the leader

b. Ttis based on rational-legal authority

¢ It i# based on inherited status

d. 1t 15 based on moral authorty

e. b

Aceording to E.O. Wright, whicy on. .

the following 18 not meluded an u... the
three dimensions of e¢o we' in modemn
capitalist production?

a. [nvestments or n oney capial

b. The physical ~ea s o1 production hke
land or fac e an - offices

Labour pu ver

Politic. v, ~ 7er

d

. v the following statements:
Celaaonships within  patrilineage  or
n.dirilineage groups are  established
and maintained through descent links
traced through cither or both parents.
AlTinal Kins are related by marnage,
The term ‘avuncular®  refers 1o
prominent  position  of  mother’s
brother.

Which of the statements given above isare
correct?

a. 1and 2 only

R ae

il

14,

16.

17.

18

b. 2 only

¢. 1und 3 only
d. 1,24nd3

e, d

In bilineal descent

A, men transmil fo sons, while daughters
mherit from their mothers

b. men transmit to daughters and women
to their sons

c. descet 18 traced mm Fue 's and
mother’s line. each . = o, %rent
attribules or types of p. oerty

d. membership 19 ae w1 w vough father
or mother and att butes e transmitted
equally thror an po. - cents

2. €

According to Goouay, diverging devolution

means

a. ohiloen 6 each sex receive very
diffeenr quantities ag inhentance

Y. calv hie male child inherits

- hildren of both sexes mherit, women
receiving their portion at marriage as
dowry

d. only the oldest male and youngest
female child mherit

. R

The theory ol social stratification. olfered

by K. Davis and W, Moaore is known as

4. Multi-dimensional theory

b. Conllict theory

¢, Functional theory

d. Structuralist theory

e &

Which one of the following theorv/model

states that the system of rewards leads o a

system of strafification 7

a. Conflict theory

b, Functional theory

¢.  Wesberian model

d. Roles-status model

e. b

Which one of the following statements is

correct 7

@, The theory of stratification in the form
of “elass™. “status” and “party” way
gven by M. Weber.

b. K. Marx advocated that super ordinale
authority i a society is to control the
subordinates by issuing orders, putting
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21

21

g
)

demands.  giving
imposing prohibition.

c. R Dahrendorf holds the wview that
stratification exists in each and every
human society of the world and also it
is a functional necessity.

d. R Merton was the forerunner .
propounding the conflict perspective
for explaining social stratification.

¢ a

Which one of the following correctly’

detines the term kinship?

a. A socially acknowledged and approved
sexual union between two individuals

b. A socially recognized comnection
between individuals established either
throngh marmriage or through blood
relatives,

¢. A group of persons directly linked by
kin connections. the adult members of
which assume responsibility for caring
the children

d. A group of people who clam a
genealogical connection of descent
through male or female line

e. b

Consider the tollowing statements:

1. Social stratification is ubiquitous

2. Casle and class are examples of s cial
stratification.

3. Sanskritization takes p' > ou ude the
framework of caste s\ ter..

Which of the stalements ;. = oove s/are

comrect?

warnings  and

4, 1 and 3 only
b. 2only

¢. land “on -
d, 1L me 3

& .C

Wit - Cthe following 15 not an aspeect of
sv = ' structure?

#, Language

b. Norms

e. Roles and statuses

d. Institutions

e a

Which one of the followmng is correct with
regard to the difference between a
proletanat and a slave ?

24

5

4, Proletanat s a lree wage labourer
while slave is not

b Proletarial s urban while slave 15 rural

Proletarial owns some land while slave

does not

2

d. There is no difference between the two

e. a

Lows Dumont conceptualized caste in

terms of

a. social differentiatior and
untauchability

. class and unequal pow. relay s

¢, dhalectical oppos’ v, o0 “pure” and

‘unpure’
d. functional ur ay ana ' erentiation
El t'

Which of the wdowmg 115 nol the

charact nst 2 of wie Jajmani system?

a. Moo, cocr relationship

b. Herc litary
e s against services

Jd. The range of activity of different
Kamin is uniform

e d

Which one of the following statements 15

not correct?

a. Peasanls are considered to cling o
tradition,

b. Farmer’s attitude towards agriculture
tends 1o be profit oriented while
peasant’s view land from a cultural
perspective.

¢. Farmers generally work on therr own
land while peasanis always lease-in
land from others.

d. Farmers work with hired labour while
peasants work with Family labour,

e. b

Consuler the tollowing statements:

1. According (o some early social
theorists such as Herbert Spencer.
social evolution 15 a process through
which societies develop in predictable
ways that generally reflect progress
towards ‘higher” or more nearly perfect
forms of social life.

2. Oswald Spengler and Amold I
Toynbee argued thal societies change
acecording to cveles of rse. decline,
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29,

and fall just as individual people are
born, mature, grow old, and die.

Which of the statements given above 1s/are

correet 7

a1 only

b. 2only

¢. Both 1and?2

d. Neither 1 nor2

e C

A social institution is

a, an established procedure that regulates
human behaviour

b. a place where social functions are
orgamzed

¢, an organization where social positions
are determined

d. an organization that adminsiers social
service

e a4

Which one of the following is not a sacial

mstitution’?

4. Kinship

. School

¢. [Bduocation
d. Prson

e d*

Who, among the following, %
emphasized the positive functions o)
conflict in society?

8, Georg Simmel
b. Karl Marx

¢. Max Weber

d. Noam Chomsky
e a

Which one v “e tohowing 1s a correct

sequence f o dturae change according 1o

P.A, Sntoh a,

a. loatw. '— Sensate — ldealistic

b. e Nstic — Ideational - Sensate

< Jensate — [dealistic — Ideational

d. Sensale — Idcational — Idealistic

[

Which one of the following 15 an attribute

of culture!

a. Culture iz divinely gifted

b, Cultwre is socially constructed

¢, Culture is genetically inherited

d. Culture 15 emvironmentally
manipulated

Lid
J

34,

Chd

e b
Mass culture generally refers to

a, the symbolic products of a group

b, artistic and literary creations

. the cultural traits of a society

d, eommercial products of litile or no

aesthetic value

e

Which one of the following 15 meant by

cultural relativism?

4. 'Ihere are universal culf ...’ non. s that
we must follow,

b, One’s view of 7.cn’ n titutions s
coloured by his e tural serspective,

¢. The functior and me.ang of a trait are
relative to it culiv al settings.

d. One believes that one’s own culture is
rela wve!, supanor to that of others.

o

Wich ne of the following statements

o1, it defines “Ethnocentrism™?

4. Midging other cultures with the help of
cultural “Tdeal Type’

b. Judging other species by comparing
them with human specics

¢, Looking at other cultures with a sense
of infenonty

d. Judging other cultures by comparison
with one’s own

e d

Who. among the followng sociologists.

popularized the term “primary group” 7

a. Erving Goffman

b. C H. Cooley

¢. David Harvey

d. G.H. Mead

e. b

Consider the following statements;

Reference group theory has generally been

used by scholars to understand the process

of

1. =ocial mobility among individuals and
groups,

2. competition and  conflict
individuals and groups,

3. social interaction and symbolic unmty

4. formation of human agency.,

Which of the statements given above isfare

correct?

among

a. 1only
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b. 1and 4 only

¢c. 2and 3 only

d. 1,2.3nd 4

e @

According o Emile Durkheim. ‘human

agency” is constrained by

a. political process

b, social structure

¢ economic resources

d. ageney of other actors

e. b

Consider the following statements with

regard to the National Population Policy,

2000

I. Decentralised planning and programme
implementation.

2. Convergence ol service delivery at
village levels.

3. Empowering women for improved
health and nuintion.

Which of the above are the strategic

themes which must be simultancously

pursued in “stand alone™ or inter-sectoral

programmes in order fo achieve the

national  socio-demographic  goals  for

20107

i, lonly

b. 2only

e. 1,2and3

d. 1and 3 only
e

The process of modern. stir in India
brings about a chan, < w the wner logic of
caste. What terr &' Lowis Dumont use
to specify this ~ro. =y

a. From ‘cu. wre . ‘“economy’

b. From ~w'whon™ to ‘politics”

¢. F om =oucture’ to “substance’

d. Yre m religion” to “society”

Whe. among the following, has introduced

the category ~Scheduled Castes™ for the

first ime m India?

i, The British in 1935 in the Government
of India Act

b. Mahatma Gandhi n 1942 durimg Quit
India Movement

¢c. Dr. B.R. Ambedkar during the
Conslituent Assembly Debates

41

42,

d. The Governmenl ol India in 1950 in
Article 42 of the Constitution of India

e. d

Which of the following policies for

dealing with the tribal population of India

was advocaled by Verrier Elvin ?

i, Reservations in jobs and education

b. Land reforms and cultivation rights

¢, No Slale inlervention tn Iribal way of
life

d. Thewr complete integrs” u in v the
national life

g T

Match List [ with 1t 11 and seleet the

correct answer v .ang b, - .de given below

the lists:

List I {Article of Cuustitution of India)

A, Art e 0 4

B. A 7215
" Artic'e 16
T, ten e df

o T (Provision)

1 Prohibition of discrimination on

grounds of religion. race. caste, sex or

place of birth

Equality before law

Promolion ol  educational and

ccomomic  interests ol Scheduled

Castes. Scheduled Trbes and other

Weaker Sections

4. Equalty of opportumily m matters of
public employment

ad BJ

Codes:

A B C D
a 3 . 4 |
b 2 4 1 3
e 3 4 2 1
d. 2 | 4 3
e il

Kaka Kalelkar Commission was appointed

by the Government of India to determine

the criteria for identification of

4. population below the poverty line

b. socially and educationally backward
classes

e, economically backward upper castes

d. socially and economically backward
communitics

e h
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Who, ameng the followmmg socal

scientists, first used the categones of “the

hittle tradition™ and “the greal tradition” to

describe the process of change i peasant

society?

Robert Redfield

MeKim Marriott

Barrington Moaore

T. Shamn

a

Consider the following statements:

Evolutionary theories of social change

sugpest that societies

l. move from simple to complex.

2. expenience linear progress,

3. change through a process of
differentiation.

Which of the stalements given above is/are

correet?

2 T A

a, 1only

b. 2only

¢. 2and 3 only
d. 1,2and3

e d

Who. among the following, arcued that

social evolution i an  extension «

bwlogical  evolution:  and - Loal
mechanisms  of social evolution.  nw

biological evolution are different but - o,

can be wnderstood m w. of

“gvolutionary universals™

a. Charles Darwin

b. David Landes

¢, Herbert Spen

d. Talcott Pz an.

e. d

Which of 4. Hllowing statements about

gocts  wonove according 1o Karl Marx

18 e owreel 7

Soc al « .ange occurs when

1. » ciely experiences class struggle.

2. a creative individoal introduces new
vialues and morals through his'her
leadership gualities.

Select the correet answer using the code

given below:

i, lonly

b. 2only

¢. Both land 2

d. Neither 1 nor 2

48

49,

St

31,

2

¢ d

According to M.N. Srinivas. what are the
three levels of Westernization in India?
a, Sunple, complex and multiple
b. Primary. secondary and tertiary
¢. High. medium and low
d. Individual, community and nation
e
Which one of the following & not correctly
matched?
Author . 2ok

a. Max Weber : Thr ero. st ot Ethic and
the “pirit f Capitalism

b. Robert : Tepnzuan. A Mexican
Redlield Vill ge: A Study of Folk
Lafe
¢, Da @) e : The Cultural
Contradictions of
Capitalism
b kaang : The Mind and Society
woffman
w o d

False consciousness according to Marx is

the

4. process by which the proletanat
undersiands its position in history

b. difference between the proletariat’s
conception of itself and itz real
interests

e difference between the bourgeois and
the proletarian conceptions of society

d. 1des that a belief held in common by a
class s necessarly troe

e b

Who has applied ‘pattern variables™ to

differentiale  between developed and
developing societies?
a, K. Davis

b. B. Hoselitz

. W.E. Moaore

d. T. Parsons

e d

The Nehruvian model of development

locuses on

a. science and technology lo promote
development

b, small and cottage based mdustries




¢ agriculture and dlternative sources of
power

d. khadi and village industries

L |

Consider the following statemants:

For  Mahatma  Gandhi,  women’s

involvement in the nationalist movement

meant that they

1. sit at home and span khada.

2. participale in bonfires that bumed
foreign elothes,

3. fill-up prisons and thus protest against
the British.

Which of the statements given above is/are

correet?

a. 1and 2 only
b. 2and 3 only
c. 1only

d. 1,2and 3

g C

The backward classes movements in South

India dunng the early twentieth century

wWere

a.  directed against the colonial rulers

b. directed against Brahmins and other
upper castes

¢c. movements  for
employment

d. movements for land reforms md .
re-chstribution

e. b

reservalion n

Directions: The following . x (6) ilems consist of
two stalements. one labe ~d . s the “Assertion (A )
and the other as ‘Rez »n 'R, 'ou are to examine
these two statemen s c. fully and select the
answers ta thess =0 using the codes gwven

below:

A3,

Ass ot - (A): Sanskritization is a process

ol v, vard mobility of castes.

Reason (R): Lower castes perceive upward

movement of their members through

imitation of higher caste rituals.

Codes:

a. Both A and R are indwvidually true and
R 15 the correet explanation of A

b. Both A and R are mdivadually true but
K is not the carrect explanation of A

¢ A s troe but R 15 false

36.

57.

58,

25

d. Aas false bul R 15 true

e €

Assertion (A): In the opmion of Irawati

Karve, caste 1s an extended kin-gronp.

Reason (R) . Members of the same casle

believe thal they have descended from a

common ancestor,

Codes:

a. Both A and R are individually true and
R 13 the correct explanation .7 A

b. Both A and R are mdiv: © dly wow but
R is not the correel ex). ' mah. 1 of A

c. AmtruebutRiisF .

d. Ais false but R & true

e u

Assertion( A): E. ohas s on conjugal ties is

supposed o weaken the stability of the

joint far uly

Reasa ‘) The lather-son relationship

ar | the veationship between brothers are

e = o .cial For the joint family system

‘a7 the conjugal relationship.

Cr des:

a. Both A and R are individually true and
K 18 the correct explanation of A

b. Both A and R are mdividually true but
R 15 not the correet explanation of A

e As true but R is false

d. A s false but R s true

e a

Asgertion (A): Monogamy is the most

common form of marnage i the

contemporary society.

Reason (R): Status of women s likely to

enhance in a monogamous umion,

Codes:

4, Both A and R are individually true and
R 15 the correct explanaton of A

b. Both A and R are individually true but

R 15 not the correct explanation of A

A 18 true but K 15 false

A is false but R is true

b

Assertion (A): Norms and values are

fundamental bases of societal make-up,

Reason (R) : Only religious institutions

teach norms and values.

Codes:

a. Both A and R are individually true and
R is the correct explanation of A

A
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b. Both A and R are individually true but

K is not the correct explanation of A

A is true but R is false

A is false but R 15 true

e ¢

Assertion (A): The modemnization process

has challenged the hold of caste system in

India.

Reason (R) : Mobality as a phenomenon of

change in caste system does not challenge

the hasic structure of caste.

Codes;

a, Both A and R are individually true and
K 15 the correct explanation of A

h. Both A and R are individually true but
R 1s not the correct explanation of’ A

¢, A true but R s false

d. Ais false bul R is true

¢. b

In the concept of chansma. as formulated

by Max Weber. charisma inheres primarily

in the

a, mnate qualities of the
personality,

b. recognition extended to the leader by
the tollowers

¢, yualities inherited as heir 77 a
particular family

d. possession of material we lth
INCOme

e a

In V. Pareto’s coneept . f cire alation of

elites, composition of en... alternates

cyclically betwesn
lions and chee,

e p

leader’s

a

b. sheep anc toxe
¢, foxes  u')oms
d. B hs w bears
e

-
»

Wh, o aong the followmg sociologists.

has . wveloped the “iron law of oligarchy™?

4. Robert Nhichels in his discussion of
Bureaucracy

b. Karl Marx in his discussion of
Capitalist Society

c. Max Weber in his discussion of
Authority
d. V. Pareto in hus discussion of Power

e a

64,

65,

66,

6.

08,

Which one of the following 18 not a

characteristic  featwre of  traditional
authority?

a. Patrimonialism

b, Personal loyalty

e Custom

d. Consistency

e.

Which one of the following is not the

institutional condilion of indus’ .. “wation?

a4, The metitutionalizatior o ri's of
inheritance

b. A commercial ay& Lu Lo change

¢ The rehable lega prine ples and thew
judicial appl” cauon

d. A rational. -ore nised
production sysicn

e €

Whi- " the ollowing is not an agency of

pe itical socialization ?

mechamzed

M oty union eleclions
a2 Trade unionism

~  Self-help groups
d. Modern technology
B. T

Consider the following statements Marx's

concepl of class “for itself” implies

1. class consciousness and realizations of
collective class action in pursuil of
overthrowing the opponent by the
workmg class

2. the economic conditions and standards
of hfe characlenzing the working
class.

Which of the statements given above 1s/are

correct?

1 only

2 only

Both 1and 2

Neither | nor 2

a

Consider the following statements!

Sociologists argue thal the political

maodermization of caste pecurs. when caste

1. dissolves itsell into a class,

2. group mobilizes itself as a pressuie

group

actively organizes on  associational

principles.

L~ L

ral
4
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Which of the statements given above 1s/are
correet”!

a. land 3 only

b. 2only

¢ 2and 3 only
d. 1.2and 3
e d*

W

hen a caste group consolidates itsell

horizontally and asks for special policies

or programmers for is development. it

begins to act like a

a. political party

b. pressure group

¢, dominant caste

d. “class-for-itsell™

e b

Consider the lollowing statemenls:

1. Hierarchy and differentiation are the
parts of social stratilication.

2. Caste system 1s a closed system of

social stratification.

Which of the statements given above slare

comrect?

a1 only

b. 2only

¢. Both 1and 2

d. Neithet 1 nor 2

e C

Consider the following statements

Democratic politics has cho=sed L e social

composition of the politic | ¢’ frum

1. cultural and status . wne seneity to
heterogensity,

2. predominanil o er caste o mulli-
caste,

3. predorma ly  arban to rural and
urban,

4. m don. antly pan-Indian o regional
=0 loecal interest oriented.

“'h, choor the statements given above is/are

corme4?

4. lonly

b. 2. 3and 4 only

¢. 1. 2and 4 only

d. 1.2.3and 4

e d*

In the theory of culture of poverty

a. structural conditions are dentified as
causing poverty

=]
ad

74,

76.

b, explostation of labour s Wentified as
causing poverty

c. lack of talents and skills are identified
as causing poverly

d. attitudes, beliefs and bebaviour of
individuals or groups are 1dentified as
causing poverty

e.

Relative deprivation is a condition where

an indnadual/a sroup

a. has become poorer tha~ efon  even
when he/it is above the yove. v line

b, has fallen below th | e v line due to
his/its downward nobu 'y

¢ feels deprivis o L' on o a group
with  whic. he 't comparex  him
self/itself

d. feel ae cive’ in relation to his/its own
asp, » on of material life

e

Ac ardir g to E. Durkheim. the natwre of

. dern law s

4, Tepressive

b. restitutive

¢, normative

d. formal

e. b

According lo E. Woll' peasant movements

have generally been led by

a4, the middle peasaniry
the agneultural labourers

¢, share-croppers

d. big farmers

e. a*

In Marxian social thought. change from

capitalism to socialism will come through

a. working-class revolution

b. revelution in the means of preduction

¢. rationalization of the production
process

d. disappearance of the middle-class

e a

Which one of the following theoreteal

models of urban growth does the following

slatement refer to?

Commercial activilies are concentrated m

a central urban core, around which rings

develop devoted to different activities,

4. Homer Hoyt's sector model




T8.

79.

30.

81

b. Ernest concentric-zone
maodel

¢. Chauncy Harriz and Edward Ullman’s
multiple-nuclei model

d. Louis Wirth’s organization of space
madel

e. b

The essence of secondary group is ils

consciousness of kind

degree of performance

face-to-lace relationship

. impersonality of relationship

e. d

Consider the following statements:

On the basis of the recent studies on the

families in India. it can be argued that

changes in the family have taken the

direction of

1. making all
nucleated.

2. inereasing filial dependence of song on

fathers and reducing the scope of the

conjugal relationships.

weakening  Tamily  norms  and

increasing  trends  towards neolocal

residence.

Which of the statements given above © e

correet”?

1, 2and 3

2 and 3 only

| and 2 only

3 only

d

In  Radeliffe-! w5 terms.  the

relationship “<tw e a man and Iis

mother’s bro.ver .. 1 patrilineal society Is

one of

a. Fhan

Burgess's
a.
b.
&,
d

families  small  and

Tid

i = R

b. o1 plementary filiation
‘up, ementary filiation

d. o -tional hliation

e. b

Environmental problems and the srowth of

environmental knowledge do not reject

i, the dominant social paradigm or
dominant Western worldview
material gains of industral socicties

¢, posi-Fordist or risk-sociely mstitutions
of the late twentieth century

d. quality of life oriented values

8.2

84

83,

80

e d

The term “Phratry” refers to which. one of

the following?

a, Grouping of nuclear families in a
common honsehold

b. Followers of a religious sect
e A close knit community
d. Clustering of several clans into

exogamous units

e. d

Consider  the  lollowin |

regarding Sanskritization:

1. Il mvolves a char .« .~ b way of life
of a lower caste,

2. It does not 'aa to o« wuctural change
n the systen -

3. Even though hnated in nature it leads
toa nov . ega.darian soctal order.

slats menls

Which “the latements given above is/are
co reet?

A, apy

. Vand 2 only
¢ 3only

d. 1.2and3

e. b*

Which one of the following 15 not a basic
feature of the tribal society?

a, Distinet language

b, Distinet territory

¢. Social differentiation

d. Segmentary
€.

-y

Which one of the following is not included
in the Power Ehte by C. Wright Mills?

a4, Political elite

b. Cultural elite

¢, Military elite

d. Business ehite

e. b

Which of the following are inalienable
parts of pohitical modermzation?

1. Freedom of expression

2. Political pressure

3. Preventive law

4. Sacrosanct and wrong

Select the correct answer using the code
aiven below

a. 1 and 2 only

b. 3 and 4 only




87.

88,

89.

o0,

¢ 1,2and 3
d. 2 3and4
e et
Consider the following statements: 91,
Tribal systems are usually calegorized by
their
1. economic systems
2, knship systems
3. educational systems
4. modes of social change,
Which of the statements given above is/are 92,
correet?
g, 1.2.3and 4
b. land 2 only
¢, 3 and 4 only
d. 2only
e b
Which one of the following paus 1 not
comrectly matched? 93,
a. Morgan  [roguois tribe
b. Franz Boas : Eslkamos
¢. AC Haddon ; Tormes Strait
d. WH.R. Rivers : Melanesta
e b
Which one ol the following 18 not a featurc
of peasant sociehies”? 04,
a.  Use of family members as labour s
b. Complete isolation
e, Famaly as a unit of producl ~ as well
as consumption
d. Agriculture as a way « fle
e. b a5,
Match List 1 with st I' and select the
correet answer us e 7 code given below
the ists:
List 1
A, Geo #inoehed and Gesellschalfi
B. 5t ‘us ana Contract 96,
. N ant and Industrial
L. * snship. Authority, and Citizenship
List 11
1. L. T habhouse
2. H. Spencer
3. F.Tonnies
4. H. Maine

Codes:
A B G |B]
i 2 4 1 o7,
2 4 3

h 4 4 p I
d 1 4 2 i
&

R Dahrendorf argued that post-industrial

societies are divided on the lines of

a. class

b. the exercise of authority

¢, ownership of means of production

d. democratic participative modely

e. b

Embourgeaisiement is

a, faillure of mobility of w. ~king :lass

b. automation of ind .stry

¢ relormulation ~UL wwrge as identity

d. process ¢ creaung  bourgeois
aspirations, » vle f living among the
work =~ clasy

e. d

WH e a o the following is not a basic

el ment [ capitalist economy?

. 1. ate ownership

0.  rofit maximization

_. Capital accumulation

d. Creation of public wealth

e d

For Weber, capitalizm 13 not related to

a. a religions commitment of self -

b, belief in Calvinist principles

e, upper elass values

d. this-worldy asceticism

e €

Lumpenproletarist is a concept within

a. Marsist theory

b, Weberian theory

¢. Parsoman theory

d. Durkheimian theory

£ a

In the theory of Leisure Class, Veblen
compared

2. consumerism with social mobility

b conspicnous consumption with cons

ous lenreofthe  financially  successful

groups i sociely

life styles of nouveau riche

d. different ideas related to deprivation of
women

e b

Consider the following statements:

3




938.

au,

108,

1. Any section of the citizens resyding n
the tesritory of India or any part thereol’
having a distinel language. senpt or
culture of its own shall have the right
to conserve the same.

2. No eitizen shall be denied admission
inte  any educational  institution
maintained by the State or receiving
aid out of State funds on grounds only
ef religion. race. caste, language or any
ol them.

Which of the statements given above 18/ are

explicitly stated in Article 29 of the

Constitution of India for protection of

mterest of minorities?

a. 1only

b. 2only

¢. Both 1and?2
d. Neither 1 nar 2
e i

Which one of the lollowing Indian states
took the progressive inmtiative ol first
launching the Employment Guarantee

Scheme?

a. Maharashtra
b. Tamil Nadu
¢, Gujarat

d. Manipur

e b

Which of the following stac. =ts are

correct?

For Karl Marx, elass is id ot ae by

1. relations of subordinatic.

2. ruling class ideols ay.

3. knowledge skt - Viechnology.

4, profit ane sw " 2 value,

Seleet the Cor et answer using the vode

eIver b ',

g, lad 2only

b, 3. 'donly

e. *wnd 3 only

d. 1.2and 4

e. d

Which of the following statements about

the concepl of rural-urban continunm 13

correct?

g. It means villages and towns are
dichotomous entities,

101,

102,

103,

104,

105.

b. It means that villages and towns are

inter-linked and yet distinet from each

other.

It explaing the process of urbanization.

d. It means migration of rural people to
ciies and of whan people o the
villages,

e. b

Who, among the following, has initiated a

discussion on the differer” ~tion of

metropolitan space like the =~ we " flows

and the space of places?

i, Manuel Castells

b. Gideon Sjoberg

¢. Amos Hawle

d. Louis Wirth

e a

Which of e ollowing is/are not the

charaet “shel haracteristies of industnal

50 dety?

1. “ete ogeneity

.. Mechanical solidarity

3 Mobility

4. Repressive laws

Select the correct answer usig the code

arven below:

a

L

2 only
b. 1.2and3
c. Zand 4
d. land 4
e C

Who. among the following. classilicd
religious  rites/rituals  into  positive.
negatrve and piacular?

a. B Malinowski

b. AR Radcliffe-Brown
. M Weber

d. E. Durkheim

o, w%

Which one of the following theories
adopts the model of the orgamism lo
understand the system?

a. Conflict theory

b. Functionalist theory

¢, Mode of production theory

d. Behavioural theory

¢. b

Match List T with List 11 and select the
correel answer using the code given below
the lists:




106.

107,

108,

List I (Scholar)

A. Charles Cooley

B. Sigmund Freud

C. Vilfredo pareto

D. George H. Mead
List 1T { Coneept)

1. Circulation of elites
2. Charisma

3. The ‘1" and the ‘Mg~
Looking-glass self
5. Ego & Super-ego
Code;

>

B L I
Lh b =
ke fd T T
P A S

o LU

d

Gandlian Satyaaha can be considered as
an example of which one of the following
Webers type ol social action?
Instrumental-rational action

Affective action

Value-rational action

Value-neutral action

e C

Which one of the following socic ogr .
‘developed the theory that within he s cia’
svatlem  roles  become  msllt wnalped
clusters of normative  -igh.:  and
ohligations?

Fu 0oar A

a. L, Durkheim 1L

b. R. Merton

e. K. Davis

d. R Lint;,

e. b*

A stac m-h ot aefers

follow ng?

1. 1w set of posibona an  individual
< ceupies noa given network of social
relations.

2. The set of distinctions an indvidual
cams in his/her life.

3. A set of privileges an officer enjoys in
burcaucracy.

Select the correct answer using the code

given below

g, lonly

b. land 3 only

to which of the

109,

110,

112,

¢, 2and 3 only

d. 1.2and3

e A

Match List I with List 11 and select the

correct answer using the code given below

the lists:

List | (Explanation)

A. Expected behaviour associated with a
mven status

B. Armay of roles that goes v.. a given
status

(. Demands from two ;v wore oles that
do nat mesh

D. Contlicting dema ds of he same role

Code:

A

1

=T

ok BN
—_t =

B A e

LY

A al norm s

- what everyone adheres to

b. an evaluation of the state ol aflaws as
good or bad

¢. a beliel’ n something as good or
deswrable

d. is not adhered o by evervone but
guides the actions of individuals in
social inleractions

e a

According to E. Sutherland, which one of

the following is referred to as white-collar

erime?

2, Crnmes committed by social elites

b. Crimes such as bribery and corruption
n mdusiry and business

¢, Crimes which go unreported.

d. Crimes  committed by
offenders

e ¢

Who., among the lollowmg sociologists,

viewed crime and deviance as playing a

positive role in the Runctional ntegration

of society?

a, Durkheim

b. Karl Marx

c, Auvpuste Comie

d. T.H. Marshall

e, a

habitual




113,

114,

113,

116.

Consider  the following explanations
regarding modemization:
l. In the area of agriculture.

modernization is a transformation from
subsistence agriculture towards
commercial production.

2. In the area of industries. modernization
is a transformation from the use of
human and animal power towards the
use of power driven machines.

Which of the explanations given above

is/are correct?

a. 1only

b. 2only

¢. Both 1and 2
d. Neither 1 nor 2
e ¢

Congider the following statements:

1. Law is made. while custom grows in

society.

Law 18 specific. custoin 15 nat,

Both law and custom need a special

agency for enforcement.

4. Customs disappear on their own, while
laws disappear with deliberate cfforts
by a recogmized authority.

Which of the statements given above are

correet?

Tad I3
= ¥

a, 1,2 3and4

b. 1and 2 only

¢ 3and donly
d. 1, 2and 4 only
e

According to F Du kheun, law is the
visible symbe’ of Lac.. ;s
a. dmasion o labe
b. collec v. ~ nsciousness
¢, n en ™ cal solidarity
d. el vious life

\
Whe. among the following. identified
sensorimotor.  pre-operational, conerete
operational and formal operational as
stages in the process of socialization?
a. Jean Piaget

b. Erving Goflman
c. Charles Cooley
d. G.H. Mead

e a

117,

118,

119.

120.

Recognition of the cultural rights of
immigrants in some of the West European
countries 18 a good example of

1, assimilation
b, izolation
¢ nlegration
d. accultwation

E. C

Match List 1 with List 1 and select the
correct answer using the code “.. *n below
the lists:

List I{Concept)

A. Melting pot mode’ .
B. Cultural lag

C. Rationalizatr o

D. Reference g up
List 1T {Proponem,

1. Her o ym q

2. Ma. Vebr

3. rober. Tark

4. Wil im Ogburn

. w5y vlation

e { (5P
A B C B
3 4 2 1
b. 1 4 2 3
c 3 2 4 |
d. 1 2 4 3
e. H
Which of the following isfare the

example/examples of role conflict?
1. A football coach whose daughter 15 a
member of the team.

2. A student going to cinema during class
time.
3. A judge bistening the case of erime

agamnst her son
Select the correct answer using the code
given below:
a. 2only
b. 1 and 3 enly
¢. | and 2 only
d. 1.2and3
e b
Which one of the following is the primary
factor i reference group behaviour?

a. Membership
b, Owl-group
¢ In-group

d.  Kelative deprivation
e d







